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PAPER 11
The total radiant energy emitted by a blackbody with surface area and absolute temperature is known as .
@ HBLQUMHerTler &#miLlsveum QelliuBlenev WMHmID GLHUFLIL UGS :
@@ &GLI QuT@erfler CmuGHuie Blevald FryLileur QeailiLBleneuuisvsTetenal QaueflGUMMID QLTSS &S IflGHS
2bDDNE GHISS! T DIGUSI :

A: Stefan-Boltzmann Law

VAL & LI60T GLIMeVL_GlnedT elS)
B: Law of thermodynamics

QauliL @uisseilwe S
C: Mendel's Law

QLnevorL6dl6tT NS
D : Malthusian theory

QLOELSIF LG Q& METeM S
Choose appropriate principles underlying environmental ethics.
(a) protection of renewable natural resources
(b) Adapt Sustainability as a way of life
(c) promotion of consumerism
(d) Maximum resource use by nations

(e) Promotion of conventional fossil fuel energy
the options are given below;

FHMIFGLP QBMLWEnME6T6T 1q LiLien L uNeumeoT QILIM[HESLOME0T G158 M6T60 585606 CHTHOSH &6
(a) UsILING5 558586 @ UMHeNS 6I6THIG6 6 LIMSISMLIL

(b) B160I6V 5 B EOTEMLOEM LI 62(TH UITLDEHEN S (LOEMUWITE 6 1D MIGH 6 & TETEH 560

(c) BISFGAIMT DWILDITE&6m6V 2618 &6 & 560

(d) BTQ&ET LWeTLUG SSID AP &LILF 616ITHI8 6T

(e) Uems L6l eTHIQLIMTIBET 2, MM6S 6T GLo6VTetoTEm D 2618 & e L]

B LILIBIGET BCL Q&BTH &SLILIL (HETeTeor.

A (a), (b) and (e) only
(a), (b) LDODILD (e) LLBILD
B: (a), (b) and (d) only
(a), (b) LLOMID (d) LOLGILD
C: (a)and (b) only
(a) LDMHMILD (b) LOL_(HLD
D: (a), (b), (c)and (d) only
(@), (b), () LDMHALD (d) LLBILD

Water in the soils saturated zone is called.
Blemmel MM LO6TTLeVSH60 2_6iTarT BT eTelleummi enps&LIUGRma! 2

A: Vodose water
GeurGLmenv B (GL6v Levor B1F)
B: Ground water
Blosslg B
C: Confining bed
SIS LHemns
D: Capillary fringe
Heowp BETHmLD




Match the following

Monitoring devices Meteorological parameters

(@)  Anemometer (1) Ambient temperature
(b) Barometer (1 Water vapor
(c) Psychrometer () Wind speed
(d) Drybulb therrmometer (IV)  Atmospheric pressure

SLpameseTLeumenm ClLIM(H5HH|5.

60T SHITEBTILIL| & ITS 60T MHISH6TT sumesflen 6V 6T 61| (ThE & 65T

(a) &mmhm| CeussLomesf] (h momIiym CleuliLbleney

(b)  SIWSS sieTall (I Bymredl

(c) UL mesf] (1) &rmnlet Geusid

(d) 2 eI Cleuliiomestl  (IV)  eusfloesorL6v &4( S50

A (a)-(D),(b) D) (¢) -(ID),(d) -(IV)
(2)-(D), (b)-(ID), (¢)-(1D), (d)-(IV)
B (a) -(II),(b) -(III) (c) -(IV),(d) -(I)
(2)-(ID), (b)-(1I), (c)-(IV), (d)-(T)
C: (@) -AV),(b) (1) (c) -(ID),(d) -()
(2)-(AV), (b)-(I1I), (c)-(1I), (d)-(I)
D: (a)-(ID),(b) -(AV) (c) -(ID),(d) -(D)
(2)-(I1D), (b)-(IV), (c)-(1I), (d)-(T)
are one of the major tropical evergreen forest regions in India.
eTetTLIE! @BEH WMell6dr (& EIW QleULILILDETITL 6V LIGemLn MM STHiS6M 60 6T mmESLD.

A Western Ghats

GUMES QSTLIFS L066V5: 6T
B: Eastern Ghats

FP&HG QOSTLIFF D6V ST
C: North Himalayas

QL& G @)LOWILDEm6V

D: Eastern Himalayas
FNE G @ LOWILDEN6EV

Which type of equipment is used for size reduction of organic residential solid waste?
GUUIGLUL HLE sifling s&Lle)&serfl6r oj6mamel GemnMmE:s 6THS 6160)5 ULITET 2_L18Je0orid LIeTLIRSSLILGRmS! 2

A Large grinders
QuIflu M TE G LD @) WIHS) [Tl &6iT
B: chippers
Gl & 56T
C: small grinders
FnlWw TS GLD @) WHS [ HIG6T
D: Jaw crushers
STenL QBTMISHS
A product of incomplete combustion having chars and roots is termed as
&ifl ZIG6T WOHMID Len&s &ifl H60bH& (DWeUSILD Tl WIS e QUIMTIH6T @elelmm SemnpssLIUGRmS :

A: SO,
S0,
B: NO,

NO,




C: HFC
HFC

D: Black carbon
Black Carbon

Temperature variation is comparatively in the aquatic environment than in the terrestrial environment.

QeuliLBleney LmmILIT® BleuIUTLIL @Goemev el Breumd @G Lpedlev splILf L emailey

A: High
2 wije)
B: Less
&60MeY
C: Constant
Bleneu W meTs!
D: Equal
FLoD

Given below are two statements

Statement I: Arctic and Alpine ecosystems are cold dominated ecosystem

Statement II: Species diversity of plants and animals in Arctic and Alpine regions decline with increasing altitude and latitude.
choose the correct answer from the options given below :

FECLD OHTH &S&LILL(BH6TET @ T6euor(h Fommiderfley:

Famml (1) : QLFEI98 DMHMID 346V60LIGT GOV SIMIDLILGET Gl QS EHEHID QFMSSID @GLP6V eMLDLILIS6T LG LD.
FaMmI (2) : QLTEHILE DHMID SL606MLIGT LGS &6fl60 &meuymhigser nmmilh 6X6vki@ s erfledr )60 mhIgeT L6085 S 60Ten L0
9155 2 WD HmIb 9 FCTm&&6fle GanmeHmal.

EC Q&ETO&SELILL G 6Ter ell@LiLnkigefledBha Fflumear LFHeaes CHIHOSEH&&HAILD :

A: Both statement I and statement II are true
@ T6T(H FnMMIGET | LDMHMILD 2 FflWITETemn 6l
B : Both statement I and statement IT are false
@\ 7600T(H) FaMMIGHET 1 LDMHMILD 2 F6UMITETEM6U
C: Statement I is true but statement IT is false
Fammi 1 FHWITETSI SL60TMEV Sn MM 2 &6UMITETSI

D: Statement I is false but statement II is true
Faml | UM SLETME Famml 2 FlWmeTsl

is based on electromagnetic radiation process of earth's surface which allow the identification of objects, structures and trends.
Sjeummilesr CLumUTLILN6T L6T&HTHS &S Felda G F L6V MEn L {19 LILIMLUITESS C\&TeTL &I, @& GILITIH6T
&L LenLIL&6T IDMHMILD CLITE G &HE6T {60 WITETLD &ITeor eI ERMS!.

A: Geographic information system
Leluluwlev S&Heau6L jeminliL]
B: Vegetation study
sraigailuiey g ule]
C: Land use and land cover
Blevll LwesTUm(® mmIlD BleulILgLiLy
D: Remote sensing

Q& TE?IGULIB60Y6V 2_600T [J B M edT

Match List | and List I

List 1 List Il

Sulfide Compounds Effects
i Thiophane a. Polymerization reaction
ii. Thiourea b. Detergent/Surfactant
iii. Sulfuric acids c Rodenticide

iv. Sulfolane d, dyes




Fsuenu(h) sevemeugatleir aflenearey e

BOSHI | BB I
(i) enFGwmGue (a) umedlnengGasssT aflenss
(i) sngGwmuflur (b) FEUTSMTL [ FTEILELSTL
(iif) Feudous & 2flsud (b) erell & GQlmmsuedl w(mmHE
(iv) FeuGumEsussr (d) FMULD

Az (i)-(a), (iD)~(d), (iii)-(c),(iv)-(b)
(D)-(a), (iD)-(d), (iii)-(c), (iv)-(b)
B: (D)-(b), (ii)-(a), (iii)-(d),(iv)-(c)
(D)-(b), (iD)-(a), (iii)-(d), (iv)-(c)
C: (D)-(e), (iD)-(b), (iii)-(a),(iv)-(d)
(D)~(c), (iD)-(b), (iii)-(a), (iv)-(d)
D: (i)-(d), (iD)-(c), (ii)-(b),(iv)-(a)
(D)~(d), (iD)-(e), (iii)-(b), (iv)-(a)
The Calculation of the quantities of reactants or products invovled in a chemical reaction is called :

R @UFTwer e Feleneruiey FGLGILD TR Tl 6rTdH6T 26Veugl QLITIHL G6rfleT 2j6mea)gerl6r Heord:E® (Wemm @) 6delmmi
SOPEELILOR MG ?

A Enthalpy
SIL&G QeullLLD
B: Resonance
SiBjey
C: Stoichiometry
GouH eNlemeTss o MIG6T NG S0
D: Entropy

ereuor _GmLiLd
At which wavelength the decomposition of ozone can occur photolytically 2

20, +hy(A=2)- 30,

eparflLiwey eneuinms @CEFmer o1k anafersE e

FlemseuamLILLD ? 20, + hY <U(i= ?)</u> = 30;

A: <1140 nm
<1140 nm
B: >1150 nm
> 1150 nm
C: <500 nm
<500 nm
D: >500nm
> 500 nm

Which one of the chemical process, by which Rocks and minerals undergo chemical weathering into simpler ones, is not correct ?
LImenm WHmILD &eoflnmkigser Gaud Fenga) cLpeuld M SIGET&H6TTS IMMID BleHelle &L e (Wenmaserfleh eedrm
B L QLIMIEUHVem6L :

A Oxidation
21,55 & 760D
B: Reduction
2(bH&HHLD
C: Hydrolysis
BrmluGsse
D: Carbonation
SMTFUGTMMLD
The study of sources, reactions, transport and fate of chemical entities in the air, water and soil environments is called

ST, BT LDMHMILD LOETIT @LO6V&H6TI6L 2_6Tem @) T&F MW 6L QIUITHL &6 60T 21, &M MHIGET, 6TH Felleneorh 6T, GLITS: &6 TH Sl
Wb NG LUhMlw oLuie] @e6laImm eP&EELILGRMS :
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A: Toxicology
[153:2: VS| [VITaV)
B : Environmental Chemistry
FHMIFGLP0 CauFHuwey
C: Environmental Ecology
FHDIFSGLE) G606
D: Anthropology
DML el wiey

The particle in water initialy is the same size which is known as

B1fl6L 2_6Tem ZiH6THET (G 6edleL RCT SaTailey @)(H& @ LD 6TeTLISI @) 6lamm Henp&H&LILGRMS :

A Monodisperse distribution
e@menm LFaley allBIGWIMSLID
B: Laminar mixing
Fr[H &G sevamal
C: Coalescing aggregation
el emevoriL] BT L6V
D: Aggregative volume
QTGS S|eTe]

The hardness of water is due to the presence of which chemicals
B LD &H60oTLeuMMI6L 6edTmI Hevfllng CFI&Hen s CFIausmev Bifl6h &6 HeiTenln 2 (BaumTH M :

A a2t M2t
Ca2+ M g2+
B: gt c*
. ct
C: Ar',pb*
A", Pb*
D: Fe*, Ma*
F e*, Ma*
The energy difference (AE) between two energy levels which gives the frequency (v) of the characteristic X-ray is expressed as

6T& VBT UN 6T (& 60T ITH & WILDITEOT {5 [T 661 600T6m600TE: (n) Q& T(H &G LD @) T6vor(h) MM EL [Bl6M6V8: EH & E @)6m L UlleumeoT Sy,MHMmey
GeumiLim( (DE) @eleumm QeueflliLGSSLILGRMmS!.

A: AE=hn
AE =hn
B: AE=h/n
AE =h/n
C: AExh=n
AExh=n
D: AExr=h
AExr=h

Which one of the following is not a part of soil fertility/biota ?
LOGTIT QUEITLD 2_(HEUTE S S EH M MT6T G LD&E00TL Q6TM QSTLTLIEML IS G6V6mev :

A Bioaerosol
LGWTg G METev
B: Algae
L6V TE 6T
C: Actionomy cetes
21,819 GeoT e LD 1 61V
D: Fungi
LL6H 60 F S 6T

What is the angle between the O- H bond of water molecules
B eLp6v8 ga misserflesr O-H Leneoor L 6@ @) 6mL G 2 6TeT G&5TewuTLD 6T60T60T ?

A: 104.5°
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104.5°

B: 110°
110°
C: 108.1°
108.1°
D: 116°
116°

Statement 1 : Autecology is the ecology of single or multiple species in relation to its growth.
Statement 2 : Synecology is the study of ecology or communities in relation to its Environment.

SHHSSI | : HMHESLDEemeuUIW6 @LP6eS6v Q6TMI VS R6TMISES CLMUL L 2 ulfler 2 (HauMH&SH T QS TLTL SbL@GLD.
SHMHSBI 2 : Fal B GLpedwedlev LevCaim dul () 2 ulflers QsME&LIL Ml eurpeilLkigerfler QS ML QL GLD.

A: Statement 2 is correct, statement 1 is incorrect
HHSS 2 Ffl OSSO | Seum

B: Statements 1 & 2 are correct
&HHSSIHSHSET 1 & 2 &Fif]

C: Statements 1 & 2 are incorrect
HHSSI(HH&HET 1 &2 Haum

D : Statement 1 is correct, statement 2 is incorrect
50530 | Ffl EGSSG 2 !

Statement I :

Micro trio sensor can be implanted in human body to have in vivo measurement.
Statement 11 :

Semiconductor fabrication technology is not related to micro biosensor.

&HHS S 1 : Hievorevorlw 2_ulifl 2_evorif] nel1s 2 Ledeb 2 6T emliNeh emeudssLiLL (B 2 ewrFLliL@GID &etord:S 6 ereor
SMHSLUILUGSRMSI.
SHHSSI 11 : GOMELED Lienerse Qe mley Bl LISH 60 Bisvorennllw 2 ulf]l 2_sworifl QsTLILUUG SSI0US G)6vemev.

A': Both the Statements are correct

QA HMHSHSHEHSEBLD Filwmerene
B : Both the Statements are incorrect

B &S [HEHEEBLL &l ILITETene {6060
C: Statement I is correct, II is incorrect

6580 1 #l, 5GH5S 6 1l &1 S

D : Statement I is incorrect, II is correct
sGSSI® 1 1l 9eve, HEBHSSIE 11 &1

In Ecological Energitics, we study :

(i) The quantity of energy flow from producer to consumer

(i) Quantity of Solar energy reaching an ecosystem

(iii) Quantity of energy used by plants for photosynthesis

Choose the most appropriate answer from the options given below :

G&Lpedlwey LiLiumileiley BITD gy ile] QFUiaIgI .

() 2 pusHunerilLb QB BISTCNHEEGE FID MM RLL ST Si6Ta)
(i) GLP6L SMOLILSGS GHW QDML SjemLullb SieTafl 16T S6Tey

(iii) 6 FCF &M BHSHTE SMAITBIGETTE LIWTLHSSLILM LD 2pmmedaT ol6re]
GO OHTH&&LILL L6 [BHS QUTHSSLOMeT LFlene C5FHOS M &6 LD.

A: Statements (i), (ii) and (iii) are correct
FaDMIGET (i), (ii) & (iii) &rf]

B : Statements (ii) and (iii) are correct and Statement (i) is incorrect
FaMHMIGET (i) & (iii) Fifl LLOOILD (i) Seuml

C: Statements (i) and (ii) are correct and Statement (iii) is incorrect
FaMHMIGET (i) & (i) &1l LDHMILD (iii) Heum

D : Statements (i), (ii) and (iii) are incorrect
FnDMISET (i), (i) & (iii) Heum!

Which one of the following is correct ?
Based on the temperature of the biomes and its ascending order of their climatic temperature.

QeuliLBlensy g LiLemL U6l ELhgsevorL &Th &t e aurmpel b gmi auflenguilev auflenF LG SSLILL (H6Tengl 675! Fifl eTeor
CaIHASH &S :
A Alpine < Arctic < Temperate < Tropical

SLEVEMLIGHT < 8 T&19.8 SiHelld < IHFRQaILILILD < QUL

B: Alpine < Temperate < Arctic < Tropical
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2LV LG < LHGQEULILILD < SI[HEULD < QeULILILD
C: Arctic <Alpine < Temperate < Tropical
SIBEULD < 3LV LIGT < GG 6uLILILD < @euLILLD
D: Alpine < Arctic < Tropical < Temperate
SLEVENLIGHT < SI[HEULD < QeulILLD < LG@eILILID
The cold edge of climate range with ever green spruces and pines occurs in :

LIG60)LD LOMMIT 61VL|[HEN DM MILD 60)LIGHT DB 6T 2 676 &6 2 FF5H avl6rer LIS &Hener
DPESLILOGR S

A: Taiga
0L &IT
B: Temperate Shrub land
WSH W Cremseml L 19 W Q&ML Blevld
C: Cool deserts
&6l LmenevaleoTLd
D: Tundra
SIBSITT

Which of the following forest types is not correctly matched with its meteorological characteristics ?

B LD 60T 6UMMIET 66T & IMT(H & 6rfl6T 616 & UL 60T FGGT6Iq600T Bl6m6V UL L63T HaUMITET QMBS SLD :

A Tropical - Very hot summer
QeULILILD LO6UITL6ULD — L&D QeuLILILDTeT GaBmemL
B: Sub-tropical - Cool summer and cool winter
108 QeuliL Desor_eulh — @6 &R W mer C&MenL LnMHMILD @) &L0meT &6l &meuld
C: Temperate - Warm summer and pronounced winter
LG meoT — @ LTeor G&HMenL LnMmilh 2 FFfl& LUl L @Gefly smeuld
D: Arctic forests - Short summer with severe and long winter

SIHaISGETH - GORW CaHmeanL mmILD BTl &G &6l &mevld

Diseases caused by dangerous chemicals dissolved Inwater :

Column -1 Column -1l
(] Lethargy - (a) Cadmium
(1] Minamata - (b) Methyl Mercury
(i} Mailtai - [c) lead
(iv)  Methamoglobinanoemia - (d) MNitrate

Choose which one of the pairs is comrect 8

gemust syl QUITLET Fifled Seuhgl uTSlsnL gNUBHSHIEAMS

SHSSI | BHBHSIH 11
(i) GEMOLCD / H&HE LDILGSLD - &mfunh
(i) LOGOILAL LT - LO60GEL UTGIEFLD
i) @omin @ mi - ML
(v) LGsm&HeD HGeomNeit @IS - GOBLGIL
Gomeng

A (i)
(i)
B: (iv)
(iv)
C: ()
O]
D: (iii)
(iii)

The transition zone between two or more communities is known as :

@TT(H &G CUMLUL L FUWSTU GLDHBIM6VEEHEH G @60 G 6TET LDMMIBleneull LGS
SOPEELILOGR MG

A: Ecosystem

@&LhBlemeuuilwicy

6T60T

eTeoT M
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B: Ecotone

@60 @LO6V S|6MLOLIL]
C: Ecology

@&LDBlemev n6uor 606y
D: Ecotype

GLD6V EUEM BT 6T

Which one of the following is not the category of wetlands in nature ?

BhseuorL eTml B Blenmbs LGS LHluIS Sjevev :

A: Fens
&Q\LIGOTEN

B: Bogs
GuImTg6n

C: Estuary
T [(): ;1)

D: Marshes
FgILIL Blevld

Species, on which several other species are dependent are known as :
2(H @) 60TSHMS LILGCaIMI G\ 6OTHhIGET FMTHS @) (H&H LD Bl6m6Ven L E)6)al TN HeMLPESHEMLD :

A Endangered species
SISBS! eUBLD §)60T IS 6T
B : Endemic species
2 _6iTe6H I () 60T RIS 6T
C: Key stone species
@B 2 U 60Tl &6
D: Threatened species
FHMIGS Blenevulev 2 aiter 2 ullifleormig et
Arrange the weathered products of rock in increasing order of percentage
gz)Fga
(iii)Na
(iv)K
grrammassfﬂa’yr QUORFTe QUTBETHm6T goiauflenguwilev auflenglIL(BHIS SIS :
(i o
(iii) Na,
(iv) K
A (i), (i), (i), (iv)
(@), (i), (iii), (iv)
B: (iv), (iii), (ii), (i)
(iv), (iii), (i1), (i)
C: (i), (iii), (ii), (iv)
(@), (iii), (i), (iv)
D: (iv), (i), (iii), (i)
(iv), (ii), (ii1), (i)
Which one of the city where cyclone warning centre is not located in India
BLpaevorL BB WMel6r ef Bl Ljwev eTdFflésamns enwid jenwefelemeu :

A': Bhubaneswar
LjeuGeoTerveuy
B: Chennai
Q& 6tTem 60T
C: Hyderabad

OAMSITLTS
D: Mumbai

(WpLemL

The three important rock forming silicate mineral groups are
(a) Quartz

(b) Feldspars

(c) Carbonates

(d) Sulphides
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(e) Ferro magnesium

Choose the most appropriate answer from the options given below

LITenm 2 [(HeUMEEGLD (LPE&HIW eLN6ITMI &60TIL0 616D &H&H6T :

(a) G6UMITL6N

(b) @UIGBEVITENVLITFTEN

(c) BTIUGC6TL(H&H6IT

(d) Fevemr LI\ & 6T

(e) QUFGT TN &6l R WILD

ECY QETHHS&LILL G 6Taraumnilev @aha FilwmeT LSame GBS Hh &) D.

A: (a), (b)and (c) only

(a), (b) LDOMILD (c) LLBILD
B: (a), (c), (d) and (e) only

(), (¢), (d) LOOHAILD () LLGILD
C: (a),(b)and (e) only

(@), (b) LDODILD (e) LDLGBID
D: (a),(c)and (e) only

(a), () LOOHAILD (e) LOLHID

is an abnormal warm condition that develops in the eastern pacific ocean, mostly in the southern coasts.

RP&HSG LFILINE QUBHISL606 QUEBLLMIID QSMHE& &L MU 2 (HeUTGLD & TSHTT60T GleulILIE en6y E)6lalTmi
SOPEEILORMSI :
A: LaNina

GUIT Bleorm
B: Summer monsoon
CHITemL LI([HeULD6mLD
C: Gradient wind
Frle| &TmHml
D: EINino

6T6L BIGeuTT

Global distribution of water

Water Source Percentage of total water
(a) Surface Storage(lakes, rivers) (i) 0.02%
(b) Glaciers i) 19%
(c) Groundwater / Soil water (i) 0.5 %
(d)  Amosphere (iv) 97.6%
() Oceans {v) 0.0001 %

Find out the correct match from the following

2 susarmallw B uflFss Hlensvenwi’s GlumEmSSayb

B spsryo Qorgs Bifle sgelisn
(a) Gupuriy Gy {n 0.02%
(gfl=sr wHmib SymissiT)
(b) ussflliumenm e {n 1.9%
(© Pespybiopmpboes sy () 05%
(d) suUETlLD&waT L6VLD (V) 97.6%
&) sLéser V) 0.0001%

eirau(meusTau bl eblmha FflwreT ClumBEss5ens s &ewrLplwe|b.

Az (@) - (©), (b) (D), (¢) «(v), (d) - (iv) (e) -(v)
(@)-(), (0)-(ID), (c)-(V), (d)-AV), (e)-(V)
B: (a) - (ii), (b) -(iii), (¢) «(iv), (d) - (v) () -(iii)
(2)-(10), (b)-(TID), (c)-(IV), (d)-(V), (e)-(I1D)
C: (a)- (i), (b) -(D), (¢) ~(iii), (d) - (D) (e) ~(iv)
(2)-(1I), (b)-(1), (¢)-(1ID), (D)-1I), (e)-IV)
D: (a)- (i), (b) -(ii), (¢) -(iii), (d) - (v) (e) -(iv)
(@)-(D), (0)-(ID), ()=, (d)-(V), (&)-(IV)
The constitution of inorganic and organic matter of a productive soil are and respectively.

QUEITLOITEUT LDEBOT600T 16V S6vflln MMl &iflln QUIMBLSerfler i@ S TaEmyLD MHMILD ANAHS5HL @B GSLD.

A: 5%and 95 %
5% LDMMILD 95%
B: 95%and5 %
95% LoMMILD 5%
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C: 40% and 60 %
40% LDMHMILD 60%
D: 60 % and 40 %
60% LOMHMILD 40%
Statement [
Ground displacement, demolition of buildings, flooding are effects of Earthquake

Statement 11
Earthquake in ocean floor do not create Tsunamis as seismic waves

Famml 1 : BleubH&HHSST Blev @LLUIQUWITFS, SL 1L @9 LITH &6T, QeueTerid L&l 696memea) &6 gmUGH mS.
Fahmi 11 : &L606T 1 LILGH UNeL gHUGLD BlevpH &S0 Blev ABT6Y EUVEETTS DM SeT MOl 2 (HEUTHE TSI,

A: Statements I and II are True

FaMMIGET I & 11 &1 WLIT60Te0) 61 85 6T
B: Statements I and II are false

T MMIGET I & 11 &6 MITEOT60) 60U S 6T
C: Statements I true, statement II - false

o 1 &, SaHol 1 Heum

D : Statements I False, statement II - True
GO 1 Heum!, oD 11 &1f]

According to , the origin of planets is the result of some event in space like the collision or close approach of two stars in space.
@ eorLILg., GameTserfledr GHTMHMLD 6TetTLIG eXlevorQeueufev @) Tevor(D HL &5 D) g 6rfledrT QB ([HE 85 LDTeT 606V S!
QBGRIG W LTS GUTETM Flev Bl&Ley &6 6T aflemeTeaum@Ld.

A: Evolutionary theory
uifleworming Ga&mLum@
B: Natural theory
QUIMeM&EEH CHITLUMGH
C: Nebular hypothesis
QBUeTH GamLum@
D: Catastrophic theory
curfle] Gamum®
is a massive, irregularly shaped slab of solid rock generally composed of both continental and oceanic lithosphere.
eTeOTLISI (1 QU @mISMHM 61196 6VTeT S LILITEN M & 6T 2,60TSI 8519.60TLOITE0T 8560078 SMHGSHTETLD DM MILD
&LV HMHCHMETH STV 2_(HEUTEOTSI.
A Land forms
IBl6V 6119 6 hI & 6T
B: Tectonic plate
QL&CLMeE L (D &s6iT
C: Pacific plate
LS L0

D : Continental plate

seooTL S
The mantle segment of solid earth has a thickness of about kms.
H L L8ufedr Lomevor_ev Lifley &).L5. H19.L060T Q)& TevoTL S
A: 0-17

0-17
B: 17-2900

17 - 2900
C: 2900-6371

2900 - 6371
D: 6371-9000

6371 - 9000

In which year India's First Solar pond was constructed at Bhavnagar, Gujarat ?

B LD 60T UM MIET 6T RIS LOMBlevld LIMeUBS el (n&Hev GIflW G6TD 2 (Feume&LILL L 31,600T(H &LE& 0.

A: 1978
1978
B: 1973
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1973

C: 1983
1983
D: 1998
1998

Which index is used to measure grindability of coal ?

Blevs s fluller oiemTsH G Seotemnenl emedl 6ThHH GSMIuT®h LweaTUGSSLILGHRmS! 2

A Handgrove grindability index
®&550| S TULSE e GSMluib
B: Swelling index
afge @MIui®
C: Heating value index
QauliL H L GMIui®
D: Softening index
QLOETEMLO WM G LD Gl
Choose the correct range of pure carbon present in lignite coal ?
FLDGHETL 2 3166 LILQLIL] Blev& & Iflullev6Tem & &80 mesT &ITTLIGT &iflmesT aIiDL] SL@&LD :

A: 94-99%
94 -99%
B: 86-93%
86 - 93%
C: 61-86%
61 - 86%
D: 46-60%
46 - 60%

Identify the incorrect answer on the different structure of amorphous Silicon cell.
B LDG600TL & 6UMITE0T 60TMI LIGV6U6ME 2_(Heulnmm F160 8 & MedT 860G 66T 2jemLDLIL] 6TS! 6T60T &600TL M &.

A: Metal, Insulator - Semiconductor
2 BeVM&LD, HLSST QUIMTHET - GnMSELSH
B: P-S-ndevices
P-S-N &M&60TLD
C: Hetro junction
Qaml g Gy FHGILILY
D : Schottky barriers

VBHTL LY H6mL 56T

Match the List = | with List =11 :

A typical composition of gas obtdined from wood gasification are given below :

List =1 List =11
(1) Carbon monoxide {1 ?-12%
(2)  Hydrogen ()  45-55%
(3) Carbon dioxide {m 18 -22%
(4) Nitrogen (V) 13-19%

samhm) | whHmb sanm Il -g QurksE)s.
LrUmTLEUTSESD ppeud £lenLbassapw sumysilsr ssusneu 6y Clar@éaiiul Qereng).

samm | saunm) Il
(1) smyustr Curermhenes() (1} 9-12%
2  evamiygeir (I 45.55%
(3 STTUST 6oL Sy Henen(p ({0} 18-22%
4)  emmlyger (v 13-29%

A: 1-TL2-1V,3-L,4-11
(D)-1m), (2)-(1V), 3)-(1), (4)-(I1)
B: 1-L2-1L3-1L4-1V
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(D)-D), (2)-AD), (3)-(1D), (4)-(1V)
C: 1-I,2-0L3-1,4-1V
(D-(ID), (2)-111), (3)-(D), (4)-(IV)
D: 1-1V,2-L3-TL4-1I
(D-(IV), (2)-(D), (3)-(I11), (4)-(11)
Which of the following statement(s) is / are correct ?
Statement I : Proximate analysis is the estimation of moisture, volatile matter, Fixed Carbon and ash.

Statement II : The ultimate analysis is the simply estimation of Chemical Composition of biomass on a gravimetric basis.
In the light of the above statement, choose the most appropriate answer given below :

UetteuBLd nmmiserflev ergl sflwimerg 2
FaMmi 1 : 9eIs6LILUGLIUTUG| 6TeTLS FTLLGLD, 2,6l WM@GLD QUITHET, [B]6060W 60T &ITIFLIGT MMILD FTLhLIV

@ weaimmler HLILTEH <& L.
Fammi 11 : @M LIGLILITUIE eTedTLIS! eTemL SjemaumILl LGLiLmiiey g litenuiley 2 ulflwiederr GeuSuiluich &evemeuemil

LHUUGESTESLD.
FEC QBETHSHSELILL G 6T W&Hea|h QUTHSSLOTET LFlmens CHIHOSMH &5 L.

A: Both statements I & II are correct

Fammi I LoMMILD 1T @ Fevor(Ih &FiflulmesTemneu
B: Both statements I & II are incorrect

Fa MM I LDMMILD 1T @ Tevor(hILD & 6UMITeoTen6M
C: Statement I is correct but Statement II is incorrect

FaMmi 1 FflUIMEOTSI 21,6076V FaMmi I &eumi

D: Statement I is incorrect but Statement II is correct
Fa MMl | HEUMTETSI 2L,60TT6 FnMmi | Fiflwmeora
Atomic Species having the same number of neutrons but different mass numbers are referred as

62CIT 6T600T6001 18608 U 6VITEUT [BIWLL_ [T T6OT&HEMEITILLD, 24,6076V GlaU6IGEIMI Hl6m M 6T600TS: 606 LD G55 T6UITL 2| &T0) @) 60T 6155 6T
@eleumm GOULLLUGRmS.

A Isobars
O@FMTUMI&SHET

B: Isotones

GG MGLITETS 6T
C: Isomerism

2CFTALHFLD
D: Isopin

CFmLIler

is the mean value of Solar Constant based on world radiation Centre.

2 05 &HIaTFs W SR 6 gLt uley @&Hlw wrmleduler &rmaf] S SLGLD.

A 1367 KW/m?

1367 B\ GovmeurL. / LS?
B: 1367 Wim?

1367 eumL. / 1§?
C: 1367 Wim?

1367 eurmL. / US>
D: 1367 m/s

1367 US/eN BT

How much percent of Uranium - 235 is contained in naturally occurring Uranium ?
@umens W Crel ST v eTeleuaTe| F&Haish W GreflwLD 235 2_6Terg! ?

A: 0.71%
0.71%
B: 0.61%
0.61%
C: 091%
0.91%
D: 0.10%
0.10%

What is the optimum temperature range required for the formation of Methane ?

FELDGHEUTL 6p60TMI LG CH 60T 2 (HAUTHESH MG JHm 2 &HHS QalllLBlenev DL L&D :




51

52

53

54

A 32°C-33°C
32°C to 33°C

B: 35°C-38°C
35°C to 38°C

C: 39°C-40°C

39°C to 40°C
D: 28°C-32°C
28°C to 32°C
Cloudy and wet conditions give rise to plume in the atmosphere.
GL0& el LD LDMHMILD FITLOITEDT Bl6m6V &ITJ600TLOME 66T L0600 L6085 6V Lena Lo gmuU@GILD.
A: Looping

QUEDEITI GULG.6ILD

B: Rectangle

QF6IAIS QIlgaILD

C: Fanning
A& euigeulhd
D: Coning

FnlDL] QUlQEILD

Arrange the steps In eutrophication and aging of a lake sequentially:

1. Increased fertility leading to accumulated growth of aquatic organisms

2. Streams bringing soil and nutrients to a newly formed lake

3. Increase in living matter and organic deposits makes lake shallow, warmer and richer in nutrients

4. Lake becomes a marsh

5. Plants occupy more space

@@ giluller Wl CrmsLNGsHaqedT nMmmIlD NS&ienouiler Lig&semner alflengwins alflensliLu®G SSaLD :

1. &GeUMIGH G sliume BT eurp 2 uliflerhiserfler aueTi&ER 915 &5 560

2. 26T | & F5S15:86T 2_6T6T L06uoT B 2_L 6T et L_Gerfler auldlims LS & 2 meurer giflasafley CEarHmal.
3. 2 Uy QUMEB6T LMHMID SF0 MEULIL|GEETTEL GHMETMID SypMM GLOGML L QeulILIh Q& TeuoTL LoMHMILD 261l | FFS5SI
Bleombs gl GHmeTmige

4. gifl FEILILIMS LDTMISE

5. HTAITEIGET 3F& @)L MhIGM6T 9,86 R Tl & %560

A: 12345
1,2,3,4,5
B: 54321
5,4,3,2,1
C: 23514
2,3,5,1,4
D: 21354
2,1,3,5,4

Which one of the following having the Radio active pollution by testing nuclear weapons as fusion material ?
L9 63T 61 (15 61 60TEU D M1 61T 6T ST 3, UL| G561 &HE0)6T G)60)600T6Y QLIMTBETTS 6T(H & S8 G & TeTeUSH 60T eLneuld HH WSS LOME LML 6L
Q& MTEToTIq (FEHRMSI ?

A Lithium
OlSH Wil
B: Uranium
W Grevflwih
C: Plutonium
LjeeBL_GLmeollWwiLD
D: Sodium
G&mguih

In which year the unleaded petrol was introduced in India ?

6TH & 2L600TIq 60 @BHWmellev smFWnmm QUL CTme MlWasLILBSSLUILLL S ?

A April 1995
gL1g6v 1995
B: April 1985
gLigev 1985
C: April 1990
g L1y6v 1990
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D: April 1997
gLigev 1997

Match List I with List Il pertaining to the noise poliution:

List | List Il
Musical Device Sound level dB(A)
a. Stereo channel with loudspeaker | 80- 100
b. Wakman with listening helmet I 70-110
c. Symphony orchestra opera pit I 100-105
d. Rockconcer (spectator areq) v 80-120

@69 rEL[H QFTLFuTsT Ulipuwish | -gg LILIGUIGD Il 2 st QUT(RESIfuseT :

Eemassmead spedlbleme (GlL&lLisb)
ULl iguiso - | Ul lguisy - I
(@) 6p6016ILI(m & ClametrL ] 80 - 100
anuleflGwim GFeairsy
(b) SHENEVEHHEUFSHS|L T Foulgll (I 70-110
SThle0 goedlLiLimest
(c) Fblumesfl gy FEl&sOLTT (1 100 - 105
spuT 1SIC
() grd &FCH (LTTensuwmery (V) 80-120
UGS

A: a-ILb-1V,c-1d-II
(a)-(II), (b)-(IV), (¢)-(I), (d)-(IIT)
B: a-Lb-I,c-1II,d-IV
(@)-(D), (b)-(ID), (¢)-1I), (d)-(IV)
C: a-MLb-Lc-1Ld-IV
(2)-(1D), (b)-(1), (¢)-(ID), (d)-(IV)
D: a-IV,b-IlLc-1V,d-I
(a)-(IV), (b)-(III), (c)-(IV), (d)-(T)
‘Which one of the following gas is responsible for Bhopal disaster ?
Gumume CUTey & & LNeTaubLd 6T & &6rfl60 6151 S MT6mTIOMEGLD 2

A Methyl Cyanide
QLML &FWem6oT(h)
B: Methyl Isocynate

QMG BEFTFWIG6TL
C: Methyl Mercaptanes

QLN H6D GIDFTSHITLIGL 60TE 6T
D: Dimethyl
LGOS 6060

When was Air (prevention and control of pollution ) act, amended in India ?

@BHwmeilley HrHm Mg &hH UL MHmIDL &LGILUT®G FLL LD eTUCUMS HBSSLILILL I ?

A: 1981
1981
B: 1982
1982
C: 1985
1985
D: 1987
1987

Match the List | and List Il and choose the comect one :

List1 List i
Soil Pollutants Effects
1 Cadmium (Cd) . White spots at the leaves
2 Iinc (In) ii. Lackof Chlorophyll content
3 Manganese [Mn) il.  White - yellow spots along veins in
the leaves

4 Cobalt [Co) Iv. Leaves forming white and dwarf
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ULiglued | -gg uligwieb Il 2_Leir Qum(m 5SS :

uliguwisu |l uLipuwisy Il
LosTTTEnETT WM& ESHID umglly
Glumrsit
) sriuflwib (Cd) (i) @eneuserflsy Cleustor Lerefl
(2) BBsSHTED (Zn) (ii) LgemFWwD @)oly
3 gt & (Mn) (i)  Elensvasaflsr mroysefls wigpFst yerafl
(4) Gamumsul (Co) (iv)  Elemevasit Clsuetor HimwnsEeayn

(BLENLWIMEAYLD LT Hew

A 1-iv,2-1i,3-1,4-iil
(D-(iv), (2)-(ii), 3)-(1), (H)-(iii)
B: 1-i,2-1,3-iv,4-iii
(D-(ii), 2)-(0), (3)-(iv), (4)-(iii)
C: 1-ii,2-iv,3-1,4-1i
(D-(iii), (2)-(1), (3)-(iv), (4)-(ii)
D: 1-iii,2-iv,3-1i,4-1i
(D-(iii), (2)-(iv), (3)-(ii), (4)-(0)
At which level of high intensity noise can change the pulse rate of human beings?

6THS L LEH 6L HH & Gallyd Q&Moo F&55LD el Fsefler Sl alRSS5ams mhHmih ?

A: 0dB

0 QL6
B: 200dB

200 QL&FILI6Y
C: 150dB

150 QLSILI6L
D: 100dB

100 QL&ILIGY

Various activities associated with the management of solid wastes from the point of generation to final disposal is known as :
FL_56 68 6rfledrT GLO6VTEITemLO UL 63T QIS TL LML LIGVEaIMI lem&WITeT QFWaLIMTH&6 e 2 (Haumssin (n&Hev G oI
3I&HMMEV QUM 2 6T Bl&HLDE eTeueumml SMIWLILIG&H S ?

A: System
SemLOLIL]
B : Functional system
QEFWUTL® SemnliL]
C: Functional element
QEFWOULTL G FomIG6T
D: Functional group
QEFWOLLTLD &WEHSH6T

Choose the correct equation in Power Production.
The overall conversion efficiency in terms of heat rate (Btu / kWh) is expressed as :

B LD&HETL 6T FLoeTUM(h L6T 2 MmuGSHUN6, oL (h QMEs WMmmis&Hmeflear Qeaulil R 5SS MG (Btu/kWh) Fflwmers
2

A: energy generated (kWh) / heat supplied in fuel (Btu)

24 MHMev 2 (HeurasasLd (kWh)

erflGummefsy Gleuliu euLprussy (Btu)
B : heat supplied in fuel (Btu) / energy generated (kWh)

srflGluim(merfledT GleuliL 6ulpraigey (Btu)

S4MMEL 2 (HeumssLd (kWh)
C: 100/ heat supplied in fuel (Btu)
100
erflGlLm(merflesT GlauLiL euLpraisev (Btu)

D: 100/ energy generated (kWh)

100
24,MMel 2 (Heurssid (kWh)
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Which is collection component that denotes climatic conditions and requirements of a locality as well as containers and costs ?
6% &L Hevemal S LIAAILIL Blemey, &L LT CHemalSH6T, UL LMD 2_6Tesh G568 6T Q& TaTSH6060T&H6T LM MILD
QF e HM6T GUIGHR TSI 2

A': Collection points
GesiflliL @)L MhigeT
B: Storage containers
GFLALIL Q& TeTE:6V60TSH 6T
C: Collection crew
GaailliL Guwelery
D: Collection frequency

GrailliL 91h&E Blsbey

Selection of specific for a solid waste management system depends on the purposes to be achieved.

GSMUILL CaiasaTs FIL sila] CLuemamenn FIU LSS 6T ChTHSHS5mS HlenmGalmmieal s .

A': management crew
GLOGVITETOTEOILD (& (LD
B: management techniques
GLO6VLITEOOTEMLD [BIL_LIMIGH 6T
C: processing techniques
QFWEITEHS BILLIMKISH6T
D : management practices
GLoeumesoremLn LIUN DG &5 61T
Which of the following are non - intrusive methods used for field sampling during site remediation ?
(i) Aerial photography

(ii)Deep geochemical surveys
(iii) Surface radiological surveys

Nereumeusoreummlev 6T Liel Sem Fgemn et CUME SerlomH 6T 2er(m peuev SHLILIMUIGY (hemm
LweTUGSSUILGR S ?

(i) eumetTeu LSl Ljem & LILIL LD 6T(h S FH6V

(i) @ppomer LallGauHuNwev yliiey

(iii) GLMOUTLIL &S flws s apuie]

A: (i) and (ii) only

(i) LHDILD (i)
B: (ii) and (iii) only

(i) LDMMILD (iii)
C: (i) and (iii) only

(i) LD DILD (iii)

D: (i), (i) and (iii)
(i), (i) DO QYLD (i)
Which type of plastic that is recycled most commonly ?

FELpseoTLeumnilev 6T alen s LlaTmenig & nmIGFLpMF &G L& 6D GLIMSI6eTeTS! ?

A: PVC
PVC
B: HDPE
HDPE
C: ABS
ABS
D: PLA
PLA

In solid waste collection how many types of vehicle routing procedures are available ?
FHLHS56 CFaIlIL6 6155660 616M 8 WITET 6UMH6T 6UlS S L [H60L (LN M&ET 2_6Teme ?

A:

R A W W NN
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Which of the following is the primary liner in the Secure landfills ?
L9 6576 (B 6u 60TEU D MI 6T 6T LIMGISMTLILITET BleuLILTLILN6) (LDSF6TemLD 2 6T 2 60m 24,GLD ?

A: Filtering membrane liner
AUl &L (I 2 6T 2_6mm LIL6VLD
B: Flexible membrane liner
QB LDEUTET 2_6T 2_6mm LIL6ULD
C: Flexible medium liner
QBHLDEUTET E)6MLBlem6v 2 6T 2_6mm
D : Filtering medium liner
Qg &L (LD @)L Bl 2 6T 2 6mm
‘Which of the following pair is correctly matched pertaining to type of waste and biomedical waste categories ?

Werau@ld sl alengs s ebeT 2 ulifle Inmssials GMlui® Blm @ e erellenerl QLITIHESS5IS%.

A': Human anatomical waste - Red

6ofls 2 L manniluiey sillelser — Flailiy]
B: Waste sharps - Blue

&6 FnJemLOWITET QLITIBL 6T — [Beuld
C: Glassware - Yellow

85600T600TITLA. L1 QILIT(HL_&6IT — LOEH&F 6T
D : Expired or discarded medicines - Yellow

SHITELTEUS WITET (2]) @SBISH&LILIL L L0@BHS — LDEHF6T

Match the List | with List Il :

List =1 List = 1l

Environmental Laws Year
(a) The Forest (Conservation) Act - (i) 1981
(b) The Alr [Prevention and Control of Poliution) Cess Act - (i 1984
(c) The Environment (Protection) Act - (L)} 1977
(d) The Water (Prevention and Confrol of Pollution) Act - (iv) 1980

Choose the correct answer from the options given below :

UL g0 -1 gn Ll igwiev -1l 2 Lest Clum(msa)s.
UL iguiev —| uLCiguiso [l
&M 5 @Lp60 eSlElEer 8U(HLLD

(a) srhlaer (urgismiy) Glewesvum® (i) 1981

(b) srmm| (or&ubhisens hssen (i) 1986

MM SL (L)

(c) &M & (&sLP6L (LIMTG|STLILY) (iii) 1977
Q& wsvum(h)

(d) 157 (raLbhlsemev &(bH&s60 (iv) 1980

MM sLHLUTEH) ClFwsoum(h

gflumest CUTHSSHHm S CxTey ClFuwis.

A: a-iv,b-iii,c-1i,d-ii
(a)-(iv), (b)-(iii), (¢)-(i), (d)-(ii)
B: a-iii,b-i,c-iv,d-ii
(a)-(iii), (b)-(1), (c)-(iv), (d)-(ii)
C: a-ii,b-iii,c-iv,d-1i
(a)-(ii), (b)-(iii), (¢)-(iv), (d)-(i)
D: a-iv,b-i,c-ii, d-iii

(@)-(iv), (b)-(D), (¢)~(ii), (d)-(iiD)
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Choose the incorrect pair pertaining to impact assessment methodologies :
B LD &HE00TL UM MIET HME & LGB wemmulwiedlev Saimmer @ enetoreneal G5 Uea] Q& Wiwe]Ln.

A Checklist - Scaling or ranking
Flumyly ulguiey — ojemell(hHE6 Seveugl 517 auiflend
B: Networks - Integration of impact causes, consequences and inter relationships between them
QUEGVILIEMLOLIL| — &ITEE G ITT600T 861 60T 62 (1H IS 6m6uor 1L, 6Xl6em6Te G 6T LnMMmILD LITEVLIT 2 M6 5 6h5s G @60 LGl 2 66T
lemLOLIL]
C: Opverlay - Project activities and their impact on environmental factors
CLV(HHE - HL L elevss QEFWmLTHSHET DMHMID &HMIFELP6) FM&HS&IND
D: Adhoc - Assembling a team of specialists to identify impacts in their areas of expertise

SefllILL L SiemliNerd — @@ Sl Gwenel SINFSHSH 31&6rT eneulb GMILILIL L LGS UN6L 2_6T6T & mHmi& @ L6y
B15:55 56060 &600TL_ M6 &60)6ITS 60

Choose the correct statements given below related to classification of coastal zones as per Coastal Regulation Zone Notification 2019:

1. Mangroves, sand dunes and turtle nesting grounds belongs to CRZ - TA

2. CRZ - 11 are classified as CRZ - Il Aand CRZ - 11 B

3. The water area and the sea bed area between the Low Tide Line up to twelve nautical miles on the seaward side belongs to CRZ - IV A.

&L BT 62(LD MG (LDEMM LOETITL6VLD 2019 —@)60TLILY. &L CeVITI L0600 L6Vl &5 6rfledT 6uen &LILIM(H QG MLFLImeoT GELD
Q&TH&&LILL B eTer FiflwmeT oinl&amaesanus CHIHOS M &5 LD.

1. #8111 Bl6VBIGET, LD6T6) B H\&HET LoMHMILD 2,0 0&6T WL LU G QUTHSHQ&HIEEGLD 66l H(H & 6T CRZ-IA -&G
QEFMHSLOMETSI.

2. CRZ-Il e & LGB S S LILIL(B6iTem CRZ-IIA LoHmILh CRZ-11B

3. 57 LGS LOHYILD GOMHESH M6V LI6Terl | T60oT(H [BITL 14 &6V 6MLDEVEET U T CRZ-IVA LIGH &G QFTHSLOMEOTSI.

A: Both 1 and 2 are correct
1 oMb 2 Fiflwimers
B: Both 1 and 3 are correct
1 Lnmmid 3 Fiflwimers)
C: Both 2 and 3 are correct
2 I0MHmID 3 Fiflwimersl
D: Only 1is correct
1 L@ Flwmersl
Which of the following Protocol related to protect biodiversity from the potential risks posed by genetically modified organisms ?

wrugsiwrHm 2 Wiliflerkgeflearms gHu@b FTEH W SUTwWnkiGem e mha Leosuly UngismiL wenmaerfley 6 Lpgs euorL
Aprlwemaafle ag AobHEHS ?

A': Kyoto Protocol

FCWMLCLT QBMlLpenm
B: Nagoya Protocol
BESHTWIT QBM HemMm
C: Cartagena Protocol
STFLMSlerm QiBMwenm

D : Montreal Protocol

medTL_iflwiev Qi wenm

Which of the following organisations involved in the establishment of Intergovernmental Panel on Climate Change (IPCC) ?
SITBlEM6V LOMMHMLD QG TL LM LIGTeT T (h 2|J& 5658 @)60 L CUIWLITET & (Welley HLp&TemIlD 6THS 2{emLnliL]
FOUL (b eTengl ?

A: UNEP and UNDP
UNEP and UNDP

B: UNDP and GEF
UNDP and GEF

C: UNFCCC and UNDP
UNFCC and UNDP

D: UNEP and WMO
UNEP and NMO

Which one of the following is not included in the implementation mechanism of Kyoto Protocol ?

eraumeusoraummley 6T etml KW ML CLT QBEMweanmuilar QFwLBG S560 allfl(Wenm&6T CEFIg&aLILILallsveme ?

A': International Emission Trading
FiaIGss 2 106 IS 5eI0

B: Joint Implementation
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Fall(® QFWLLIHSHSH60
C: The Clean Development Mechanism (CDM)
FHSID QFWWILLL elemf&Fs eudlwpemm (CDM)
D: Nationally Determined Contribution (NDC)
GsH W oemalléy BFLOmell&BaLILL L LBIgeTLiL (NDC)

In which city, the headquarters of the National Biodiversity Authority (NBA) is located ?
B LP&HE0TL 611G H&H K60, GHHIW LILaw Uil 24,60)600T W &6M6EVEDLOWISLD 2_6Terg) ?

A: Thiruvananthapuram
B GauaTBHSLTLD
B: Hyderabad
MANSTTLMS
C: Bangalore
Q\LITEIG 06 ]
D: Chennai

O & 60T6D) 60T

Which of the following project sector is not included in the Clean Development Mechanism ?
6T HLLLD LeTau@dld H LG siemmaefley grilennwmer GLbUTL® adflweanmuiley CFFsHss ULl ?

A: Food processing
2 60T LSLILIGS SISV
B: Fuel switching
erflQLITBET LOMmIg 60
C: Afforestation and Reforestation
&M eueTFLIL LMHMILD LDMIST(H eueTFLIL]
D: Renewable energy
LSILE8EE585 aLmme
United Nations targeted to reach its Millennium Development Goals by the year
DERW BTH&6T 2560 160606l ILLILD 2600T(H) & &6/ DB 60T UETIES E)6V5 (S 5H6M6T DML @)6VE & M6USSIGTETSI :

A: 2012
2012
B: 2013
2013
C: 2015
2015
D: 2020
2020

The distance from the third to the first quartile is stated by the formula 'Q =Q5-Q;'. This denotes the

en6TAl6 @ BIHSI (NSH6L &MTEVTENOTILMETET STTLD Q= Q3 - Q 616N GHSH TS S M6V ainmuu®®mgl @8 =
GM&EE DS

A Mid Quartile range

LGB W &HTeLTeooT(H) eUTLDL]
B: Range

CoumiLImL_(h eTeLEM6V
C: Quartile

&ML LGS

D: Interquartile range

@emLLILIL L euFLbL

Given below are two statements

Statement-I : Chi-Square test can be used as a test of dependence.

Statement-II : Chi-Square is a non-parametric test and it can be used as a test of goodness of fit.

Choose the correct answer from the options given below :

FECL @ TetuT(H FoMMIGHET QAHTH &G LILIL (H6TENS :

Fo MOl : & QUIEHSHF CFMHEN6T FMTL CFMHM6TEH M LIWI6TLMH S&E6VITLD.

FaDmI Il : 608 CUTSSHE CFMS 6T 6T60TLIGI (1D 66 (H V6VITSH CFMHEN 6T LDMMILD @) &I QLIS S &S 60T [660T6)L0 & 85 60T
CFMHEMEOTUIIMTE LIWETLGSSH6VTLN.

EC Q&ETHHSELILL G 6Ter el BLILSH e BHS Fflumear LUFeameas CHIHOSMH &S LD.

A Both Statement I and Statement II are true
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Faml 1 IDMHMILD Sammi 11 @FevorBLD FiflwimeTemel
B: Both Statement I and Statement II are false

G MM T LDMHMID FnmMi 1T @ Tevor(hlLD &e6UMITETen6
C: Statement I is true but Statement II is false

Fammi 1 &1l L60TTeL Fn MM I Heumi

D : Statement I is false but Statement II is true
FaMl [ HEUMI 36TV Fo MM 11 &Fif]

‘When choosing the measure of central tendency, which of the following statements are applicable.
(I) Use the mode when the variable is measured at the nominal level.

(IT) Use the median when the variable is measured at the ordinary level.

(IIT) Use the mean to report the central score.

(IV) Use the median to report the common score.

oW Blemeull CLIMER 6T Sjemenal CHIHASH &M CUME LlaTaumld onléen s serfley 6T& QUITBHSID ?
L WaH QUWFeTe] L LGHev emallLIL(GIh GUME LwWeTUG S SHen

IL ir) s myer L LSS0 SiemallL L@ CUMs BHSSTHMSLI LILeTUG SSH6LD

1. G WLHLIQ L6 SMl&ens QFuiw Frmeflenwll LWeTURSSa LD

IV. QUITEIameT G LIGLIctoTen 6ol QS lallgas BHHSTH S LIL6TLI(HSSEa]LD.

A: Tandlll
[ LDMHMILD 11
B: ILIland IV
IL, 11T LoD IV
C: L IIandIIl
L1 o mutb M1
D: TandII
I WHmiLD 11
Estimate the harmonic mean of the numbers 4, 5 and 10.
gflenad Fymaifluller eretoraerimen 4, 5 DMHMID 10 —smeor G LILNGIeug! 6Tl1LIg ?

A: 545
5.45
B: 545
54.5
C: 0.54
0.54
D: 0.054
0.054

When the population mean () is equal to the hypothesised mean (LH;=100, the null hypothesis is expressed as.

Qearsesmems Frnail (u), seunmelsalul L FFnefleE (uH,) = 100 FOWTE @) (HéELDCUTE! LLBW &HSIGSHmeT
Werau@mumm QelelliLGSSLILGRmS!.

A: Hy:p=pHy=100

Hy : p=pHy =100

B: Hy: p#uHy=100

H,:p' pH, =100
C: Hp:p=pHy=0

u=pH,=0

D: Hy: pu#uHy=0

‘ptpHg=0

Which of the following formula is used to find the mode of grouped data ?

LN 65T61 (B 6U 6OTEU M MU 6T 6TH S &S5 H THH e 60T LILTLIG S (& B &6r16T dn(H&H60 8616060 GILIMEVITLD ?

AI F
Mode=L+ —L_C

l+2

Mode=L+ —L C
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Mode = | +LC
F1+F2+F3
F
Mode=1+—"1_C
F1+F2+F3
C: F
Mode=1+ —_C
1 F2
Mode=1+ —_C
1 F2
D: F
Mode=L + ——C
1 'h
N F
Mode =L, + : C
1~ 'n

Choose the correct statement about correlation analysis

(I) The range of correlation coefficient is in between -1 and +1.

(ID) If correlation coefficient is negative, then the variables are inversely proportional and it is maximum when it is -1.
(IIT) Correlation is the degree of association between two variables.

(IV) Correlation is represented in the terms of correlation coefficient.

(V) If the correlation coefficient is positive, there is no association between two variables.

Choose the most appropriate answer from the options given below.

el (hme] UGLUTWe UmhMlw FflwmeT gamhenms CaHIHaSH &&e]0.

L. RL(B\MEY &600T8:8:8 H) 60l eUTiDL] -1 IMmID +1 GenLufN6v 2_6iTema!.

II. L (HMEY &600T&:& LD 6THFLOMMUITE E)(HIHS TV, LDMM&ET 6TH T B STFTFINMSG6|D, 3% -1 6 GBS GLD CUTa!
SPGULFIOTHALD E)HSHGLD.

111 @L_(hmey eTedtTLIG @ T6vor(h Loml& 6 &S e GUIWITeT QS MLTLIET 366 oL&LD.

IV. L (e 6TedTLIg! L H\M6Y &60T& &S S 60T 2119 LILenLul6) @MU LIUG&RmSI.

V. 2L (hMe] G&600réas10 GBFLenMmWITS G (BHST6, @ Teor( MMlHsHE585E& @M GW 6MhHE QSTLILD E)(H&HHTSI.
FEC QBETHS&SELILL G 6T Qs flalsefled®hal L&ah QUTHBSSIOMET LI aas CHIHOSH&&Ha]|LD.

A: 1,11, III only
L 1L 11 oL (pLD
B: LI Vonly
LI VL GLWw
C: LIV,Vonly
LIV, VL GLW
D: LIL Il and IV only
L IL I Lo oid IV L BIb

is a parametric test used for comparing a sample variance to a theoretical population variance.
@8l @ LIS LTOILTL L @ CHTLUTL () Blemew @aTse S mend LmoiLML (GL6T @UIlGaugsnHE&LI

LweTURQSSLLBILD (5 H6T6Y([H CF THMEIT G LD.
A: z-test

Z - GFmgement
B: t-test

t— GFMGHemeoT
C: xZtest

X2 - GEFMTHem60T
D: F -test

F - G& Mg emeot

The significance of the difference between the mean of two different samples can be tested using either paired t-test (or) depending on the sample
size.
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@ et QeucuCaum rHiflsefler Frmaiflee @emLulevmer CaumiLim1ger (&R WSSIaGNS TH ] oeTeneaill
QUTMIGSH CRMIY T - CFMSHMET V6VSI Z - GFMEHemeTen WL LIWeTLI(RHSSH CFTH&H 6T,

A z-test

Z - G&F TS 60 60T
B: F-Test

T - G&F TG 6 60T
C: X2-test

X2 - G& TS 6m60T
D: ANOVA

2| GeoTmeuUIT

To estimate the oxygen consumption of fish treated with pesticides dosages at different levels, which are to be assessed in controlled and treated conditions, the
suggested statistical method would be ?

SLOULUOGSSLILLL nmoih SR Fan & werflsasLiLL Calsuriy il LiIvGalm Bleneugerfley 2 _6Tem L& & &6 & meved &ermmey
AR FanFwefleaslIL@LD Weofler a8 edlgear LiweTuml enl nHINGeusnH&, LUflbaienrss il L LsTerflulliie wpenm
sreueumml et LILGSR S 2

A Chi-square test

D H—6UE 8 GF TG 60)60T
B: ANOVA

9| @6uTITeUIT (Anova)
C: Paired t-test

@) 60 600T t - G&F T 60)60T

D: Correlation

eLOe|
Which one of the following is the safe limit of fluoride consumption according to WHO ?
LY edreumeusoreummlev epedTm WHO @)edrLilg. L|GemmenT([H BT eUTLDL|--nmmmm-- QUG
A: 1.0mg/L

1.0 mg/L
B: 1.25mg/L

1.25 mg/L
C: 1.5mg/L

1.5 mg/L
D: L.75mg/L

1.75 mg/L

The international organization that helps developing countries to increase the wealth producing capabilities of their natural and human resource is :
FIUGHF IeMLOLILIGET aUem(HLD BB &6rfledr QUITBaTeLeT 2 MHLIGH Ulene QUMIASNE HBHTL Q6T G)W Hen&HeleTLd
WMHoILD 106o1S 6UETESH 60T (LPETCETDHMSH M@ 2 ([HEUTSHGLD HEOLDLIL|HET :
A UNEP-United Nations Environment Program
UNEP - 60Tl 606001 & S LILIL L & (HMIF G P60 QFWMH L L LD
B: World Bank
World Bank - 2 608 QUMBIG
C: 1M F-International Monetary Fund
IMF - LetTeorTL_(h) BIS) Blmieleorid
D : UNDP-United Nations Development Program
UNDP - e60Tpflemetorés s L1LL L GH&F auaTF&ER QewmG L L LD
Gir National Park is located in the State
AF CHAW LLBIST S6MLDBSIETET DMBleVLD :

A: Gujarat

G8IMS
B: Andhra Pradesh

2 BS T UIFesEID

C: Karnataka
SFTBILS&T

D : Maharashtra
DS TITOY L TIT

Which of the following is not related to the Minamata disaster ?
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LN edraumeusoraummlev 6r&i LT MQWLLIT CBTW 60T QSTLTLDL WIS {606V ?

A: Chemical industries located along the coastal region of Japan discharged their effluents containing mercury

sl1Lmefler &LEMTL LGHUN6) S16mDbSI6TeT TFTW6TS QSTAMEF TeneV&H6T LIMETFS & 68 TeurL 26 m e
&a g6 Geuerfl G m et

B : This incident also caused arsenic and fluoride poisoning
@bs FlbLeD S FFeails nHmiD sliebenr® eflagsemns Wb gHLOSH WS
C: It was found that the death was due to ingestion of methyl mercury contaminated seafood

QUSMB QLIGH LTHFLGSSLILLL HL6V 2_6toremnel 2 L Q& TeTeU S 60T & TIFesorL0mas LOJeuorld e ML L &l

Sevor_ MWLl L gl
D : Exposure of methyl mercury leads to cellular degeneration in central nervous system

QUGB QLTEGHluller QeauefliLm® LSS W HFLDL] LO6UITL 605 F) 60T QFLaIGTT LMHMILD FenselsHE aull euGHRMS!
How many points scored to attain three stars rating as per GRIHA? ( Green Rating for Integrated Habitat Assessment)

RBEIR 6T HS euThaillL LD H LT H&HE L WG LTI MHE (GRIHA) gL eLpeTmi BLFSS TS 6 Sreuflend
eTeualeTa)] Li6eTef&emeTll QUMMTIEET.

A: 50-60
50 - 60
B: 71-80
71-80
C: 81-90
81-90
D: 91-100
91 -100

How many national missions are there by National Action Plan on climate change (NAPCC)
SMVBlemeV LDMHMLD GNMISS CHSFW QFWe HLLSH 60 (NAPCC), CHRAW &) &8s meitd6rfl6ir 6T600T6001 186085 6185560601
o eiTerment ?

A 17
17
B: 8
8
C: 21
21
D: 3
3

Assertion(A) : National Action plan on climate change (NAPCC) is the first climate action Plan of India introduced in 2008
Reason(R) : This plan comprises of existing and future policies and future programs aiming to mitigate and adapt to impacts of climate change.

QU MISEED (A) : HTEVHlEM6L LDMTMHMLD QSTLILITeT CHF W QF WL L LD (NAPCC) 6TedTLIGI 2008 Q41D 21,600T1q.60
ANWSLILRSSLILLL @BS W Teller (&L HTevBleney QFWOSH L LIDMGLD.

SITI6uoTLD (R) : SHITEVHIEM6V LDMTMHMEHET HMEHGD @ HS HILULID(NAPCC) &TeLHBlem6V LOMMHM &M& S HI&He6T SMHELITS 2 6T6rT
MDD THTSHTEV Q& TETEN&HSHET 6U(E 5569 60T eLNeVLD TH TS TeTer Geuevoriq il (NeTCardUMLenL g Q&S S QLGILILS.

A: (A)is true but (R) is false
(A) 2_600T6MLD 3L,60TITEV (R) HeUml
B: Both (A) & (R) are true and (R) is the correct explanation
(A) LDHMILD (R) @Tesor(BD &Fifl LnmmIth (R) &1WIT60T &5 ITI6euorLd
C: (A)is false (R) is true
(A) sum! (R) &ifl
D: Both (A) and (R) are true but (R) is not the correct explanation

(A) oI (R) &l 84,60TM60 (R) FHIWITEOT &ITTE00TLD &) 606016V

Which of the following are components of the National mission for sustainable Agriculture ?

(i) Farm water management

(ii) Integrated water shed development

(iii) Climate change and Sustainable agriculture monitoring

(iv) Soil health management

Blemeuwimer elleugmUSH Mo Ter CHF W @) UGS SR 60T &n MIG6Tl60 L6Tal(Hel6TalMM6) 6TH 2_6Temg 2
(i) LIevoTemenor B GLO6LTEUITEDILD

(il) B MBIR 60T S B Hlemev GLO6VTETITEnLN

(iii) &MTeLIBlemeEL LDMMMLD DM MILD [Blem6VILITEOT el 6U& T & 600185 Teuot1L1L|

(iv) LD6OOT && MG GLOGVITE0OTEM LD

A (i), (ii) and (iii) are correct

(i), (i) LDMOMILD (iii) Fflwimesremeu
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B: (ii), (iii) and (iv) are correct

(i), (i) LDMHMILD (iv) FHlWmeoTEm 6
C: (i) and (iv) are correct

(i) LMD (iv) FlwimeoTen 6l
D: (i), (ii),(iii) and (iv) are correct

(i), (i), (iii) LDMMILD (iv) FFlWITETEm 6

In which year the Project Elephant was launched in India ?

QBHWMailey, 6THS 21,600T(H WITen6oT HL L LD QGSTLMIGLILLL S ?

A: 1992
1992
B: 1995
1995
C: 1982
1982
D: 1999
1999

The silent valley is preserved as
MG LIGTOTSHS TS S,

A': Rain forest biosphere reserve.
e s serfler 2 ullj&CasmaTs &ITLLS&LITS
B: Nature reserve
QUM HTLILISLOMSE
C: Community reserve
FPSTW STLULSLONS
D: Wildlife Sanctuary

6UETEN GUTRIG & [T6U0T TEUWILDITES

Which of the following statement/s is / are correct

UMSISTHESLILGRMmS!.

(i) Chipko Andolan is the tree hugging movement for the conservation of the forest
(i) The Chipko movement was held under the leadership of Sagundala Singh

(iii) The Chipko movement carried out by the tribal women to save trees
(iv) The term Chipko means to embrace; Andolan means movement

LN ereu®Ld Fommi(Herflev) er& Fiflwimeorg 2

() PWICHIT HCHMEVEDT 6T6dT LIS MRS LIMSISTLILIGMETET LT hIS 66T 2 JeUeneurs:GLD @) W& &INMELID
(il) FSBHHOLT FIBI Femevenlouiley FICHT @UISHSID Ha L QLIMHMSI

(iii) LD MBIGHE6TE STLILMMM LIPHkIGLIUlleorll QUGS 6Tmel L SSLILLL G FIICHT @IS S0

(iv) PIICSHIT eTOTMITEL & (LDEYFH6V, 2 HEGHTEVET GTETMIT6V @)W &80 6T60TMI G LIM(H6IT

A': only (i) and (ii) are correct
(i) LoMHMILD (i) L @D &ifl
B: only (ii) and (iii) are correct
(i) DM mILD (iii) LD &if
C: only (i),(iii) and (iv) are correct
(i), (iii) LDHMILD (iv) DL G Fif]
D: only (i), (ii), (iii) and (iv) are correct

(@), (i), (iii) LOODILD (iv) &1l

Crocodile conservation project was launched by Government of India in :

REMEVGEET LIMSISGTLILS S LD @HE W SITFTeV

A: 1973
1973
B: 1974
1974
C: 1975
1975
D: 1976
1976

Consider the following statement about Green India Mission

LD 2L,600TIQ60 QSMTLMBISLILLL G,

(i) Increase forest cover on 5 m ha of forest / non -forest lands and improved quality of forest cover on another 5 m ha
(ii) Improved ecosystem Services including biodiversity, hydrological services and carbon sequenstration as a result of treatment of 10 m ha
(iii) Enhanced annual CO,sequenstration by 50 to 60 million tonnes in the year 2020




(iv) India's forest cover is more than 33% of the total Geographical area of the country.
Choose the correct options given below :

L6 @BHWT QUGS GMISS LleTeuBLd i) &e0 860U & 61 60Tl WL hIGH6T.

(i) BTG &6l 5 Wevedlwier Qam&GLT S6V6V&! aUeTIDMM BleumigaT 5 Wevedlwer QamsCL ey &TH serfler G L S
EWahHenm B &S50

(i) 10 LN WIETT QaMGCLT CFMEMETEHE 2 L LIGGSLUILIL L HleTLI Lisvawuly Ligalsy, BIBleney GFenealgeT Lnmmith
ST BleneuBlmigsise 2 eefll L Gbul L &hHmigd@Lpen Caenaugsar allfleumdsin

(iii) 2020 S0 2LEVOTIQ6D QUL THS T STTLIGT ML 3&Hemerv(h BlemeuBlmig&SEeney 50 (NG6V 60 LE6LeOLIET L 60T aUem T
GubUBSH WS

(iv) @bBH wmelledr euerTLILIGS) BITL1960T QLOMESS Lieluflwiev LyliLieredlev 33% 6@ G &I0ME 2_(HeUT&HG6US! .

FEC QBETHHSELILL G aTareneigerfiey Fflwmsareimenm CHFe| QFUIs%.

A': Only (i) is correct
(i) DL @b Fflwmergl
B: Only (i) and (iii) are correct
(i) LDMHMLD (iii) FflwmeTeney
C: Only (i),(ii) and (iii) are correct
(i), (i) LDMHMILD (iii) &Fiflwimeoreme
D: All are correct

TS SILD FIflWMTeTemal




